
 15 

 
(B) ┬  

  
5km

1.5km 39 18 141 59
こ km 500m 39ha 128m

 
1935 10

↓オ 1955 30
 

 
 

8 5  
8  
8 7  
8 8  
8 9  
8 10  
 
  

 
 

㎰  
 
 
 

 
 
オ

オ 3 4
 

 
ふ  



 16 

19 ふ

 
 

 
 

 ふ

 
 

ふ

15 19 3 ゝ 37
 

3
3

ぜ

ぜ ぜ

 
 

こ 々 ふ ぜ

ぜ ぜ 8 10 1
39 ふ  

 
 

 
3

60m 80m 60m 180m こ 50m
100m 3 2 ス オ

- 0.45 0.27 0.49
33

[4,800 0.45 0.33=]713 [10,800 0.27 0.33=]962



 17 

[5,000 0.49 0.33=]809 ゝ 2,484 オ 3

2,500
 

 
3

ッ ぜ  
 
ふ こ 9

ぜ ぜ  
 

オ  
3 さ  

 

 

 
 

3 ゝ 6
50m 4m ス オ

B1 オ

2 CCD ふ

60 20 33  
こ❻



 18 

 
 

B1  

m2  
   

   84  0.42 90 , 10%  

   97  0.49 90 , 10%  
   59  0.30 99 , 1%  
   47  0.24 100   
 こ  105  0.53 85 , 15%  
 こ   90  0.45 95 , 5%  

 
フ  

├ ┘ ふ  
 

ふ

ぜ

 
 

㎲ ❻ 15m
ふ ぜ

 
 

 
1

15 19
3 8

 
 

フ  

 
 



 19 

 
7 8 ┘ オ

3 4  
ふ  

┘っ  
┘っ ス  
オ ┘っ - GPS オ  

-  
フ  

オ -
オ  

 
フ フ  

 
 


